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Q1. In which one of the following cases, it was held for 

the first time by the Supreme Court of India that 

Judicial Review is a basic feature of the 

Constitution? 

       (a)  A.K. Gopalan v. State of Madras 

       (b)  L. Chandra Kumar v. Union of India 

       (c)  Kesavananda Bharati v. State of Kerala 

       (d)  Maneka Gandhi v. Union of India 

 

Q2. No wife shall be entitled to receive maintenance 

from her husband under section 125 Cr.P.C. if : 

    (a)  She has obtained divorce from her husband and 

has not remarried 

   (b)  She is unable to maintain herself 

    (c)  She refused to live with her husband on the 

ground that he keeps a mistress 

   (d)  She is living in adultery 

      

 

Q3.  A is accused of an act which may amount to theft 

or receiving stolen property or criminal breach of 

trust or cheating. He is only charged with theft but 

it appears that he committed the offence of criminal 

breach of trust. He may be 

    (a)  Acquitted                    

   (b)  Convicted of theft 

    (c)  Convicted of criminal breach of trust 

   (d)  Discharged 

 

Q4. In a case involving the offence punishable under 

Section 304 Part II of IPC, the accused, is arrested 

and the prosecution fails to comply with the 

requirements of Section 167(b) Cr.P.C. The 

accused, who is a habitual offender, becomes 

entitled to compulsive bail on: 

       (a)  61st day from the date of his arrest 

      (b)  91st day from the date of his arrest 

       (c)  The accused is not entitled to be released on 

compulsive bail 

      (d)  None of the above 

 

Q5. C being the wife of B, has obtained a decree of 

separation from the competent Court but they are 

still living in the same premises. B subjects C to 

intercourse. Their neighbour A watches the act and 

files an FIR. Which proposition is correct in these 

circumstances: 

    (a)  B is guilty of the offence punishable under 

Section 376B IPC 

   (b)  B is not guilty of any offence because C 

continues to be his legally wedded wife 

    (c)  A would be guilty of the offence punishable 

under Section 354C IPC 

   (d)  None of the above  
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1. (b) 

2. (d) 

3. (c) 

4. (a) 

5. (c) 
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